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19. The refractive indices of four substances P, Q, R and S are 1.50, 1.36, 1.77 and 1.31 respectively. The

light is the maximum in the substance :
(@) P (b) Q (©) R LS

20. The refractive indices of four materials A, B, C and D are 1.33, 1.43, 1.71 and 1.5
light rays pass from air into these materials, they refract the maximum in :

() material B {¢) Mmaterial C

2 respectively. Whent

(7) material A (@ material
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ﬂ ‘The refractive index of glass for light going from air to glass is -;- . The refractive index for light going from

"’“23

o,

26.

7.

28,

51355 to air will be :

i‘. i 5
(“) 3 (b) % (d) -
72, The refractive indices of four media A, B, C and D are 1.44, 1.52, 1.65 and 1.3 respectively. When light
travelhnb in air is incident in these media at equal angles, the angle of refraction will be the minimum :
,{W medium A (b) in medium B (gt medium C (@) in medium D
The speed of hght in substance X is 1.25 x 108 m/s and that in air is 3 x 108m/s. The refractive index of this

it 4 - (b) 04 (c) 4.2 (d) 3.75

'. The re_fract.ive .in.dff_x&f of four substances P, Q, R and § are 1.77, 1.50, 2.42 and 1.31 respectively. When light
travelling in air is incident on these substances at equal angles, the angle of refraction will be the maximum

in :

(a) substance P (b) substance Q (c) substance R (dy-Substance S

The refractive index of water is :

(0133 (b) 1.50 (c) 2.42 (d) 1.36

The refractive index of water with respect to air is % The refractive index of air with respect to water will
be :

@ 175 (b) 0.50 m (d) 0.25

Refractive indices of water, sulphuric acid, glass and carbon disulphide are 1.33, 1.43, 1.53 and 1.63

respectively. The light travels slowest in :
(@) sulphuric acid (b) glass (¢) water A (dyCarbon disulphide
The refractive index of glass with respect to air is 7 and the refractive index of water with respect to air is

4
7 - The refractive index of glass with respect to water will be :

(@) 1.525 (b) 1.225 (c) 1.425 (d1.125
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